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S Al 28,340,000 | 100.00% 23,300,000 | 100.00% 5,040,000 21.63%
SE3 A 28,340,000 | 100.00% 23,300,000 | 100.00% 5,040,000 21.63%
JIEtSE 3 A 28,340,000 | 100.00% 23,300,000 | 100.00% 5,040,000 21.63%
=EHINLSE A 4,144,000 | 14.62% 3,700,000 | 15.88% 444,000 12.00%
2sdII=SEAA 2,800,000 9.88% 2,800,000 | 12.02% 0 0.00%
HASFUFNHFIISE 600,000 2.12% 600,000 2.58% 0 0.00%
3l A
FUAST AL HEOE | 1,400,000 4.94% 1,400,000 6.01% 0 0.00%
=SE3 A
ZII0IEHAIHE AL 300,000 1.06% 300,000 1.29% 0 0.00%
NEAAANEESA
SSNFAZLEALEZ A 2,300,000 8.12% 2,300,000 9.87% 0 0.00%
X=ASSE 3 A 14,996,000 | 52.91% 10,400,000 | 44.64% 4,596,000 44.19%
JIBFAIE SE 3 500,000 1.76% 500,000 2.15% 0 0.00%
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1,300,000 4.59% 1,300,000 5.58% 0 0.00%




